Geometric Probability
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1. A square with an area of 200 square centimeters is inscribed in a circle with a radius of 10 centimeters.  Assume that 1,000 darts were thrown at random and hit the target.  How many would you expect to land in the unshaded region?

On the game board, a bean is equally likely to land on any square.

2. What is the total area of the board?__________

3. What is the P(beans land in A)? _______

  P(beans land in B)? _______

  P(beans land in C)? _______

  P(beans land in D)? _______

  P(beans land in E)? _______

4. What is the probability that the bean will land in neither D or E?

5. A square target 15 cm on a side contains 30 non-overlapping circles, each with a radius of 1 centimeter. Find the P(hitting a circle).  Express the answer as a percent rounded to the nearest tenth.

6. The land area of Maryland is about 9,775 square miles.  The water area of Maryland is about 2,522 square miles.  Suppose a meteor hits at random on the state.  What is the probability, to the nearest tenth, that the meteor will hit water?
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